BEye —
oy fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
3 1
278+394+3X_: 4,9+3,4+5X—:
4 4
2 1
S H15x58+3+5x5,4= 2-25%3,9+5+2x 2=
1 1
4,1+16><§+4+2><4,5= 5,5—§+4><3,6=
I 1 1
— 4+ _+4x%x49= 4,4+ -—x5-2,7=
2 6 ’ ’ 4 ’
L i49-3x3= 2,3-2,4x4+3,4-
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BEye —
oy -~ fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
3 169 9 I 191 11
2,8+3,4+ -= — =8— 4,9+3,4+ —=— =90_—
BE3AEI T "% DEIAEITT 0 T
2 282 2 1 101 5
- +1 +3+ 4=—=>5- 2—2 +5+2xX = =(——)=(—16-
3 5x5,8+3+5x%5, 5 565 5%x3,9+5 ><3 ( 6) ( 66)
1 151 1 1 97 2
4,1+1 —+4+2%x45=—=15— - —-+4 = — =19-
, 6><2 x 4,5 10 510 5,5 3 X 3,6 5 95
l+l+4><4,9=ﬁ=20i 4,4+l><5—2,7=2=2B
2 6 15 15 4 20 20

113

1
L 49-3x3=(——>
3 F4973x3=05;

23 39 9
- (32 2,3-2,4x4+34=(-2)=(-3—
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